&2~ 6xta=(x-b)? & WEL W, ab O ZH& Fotole

> E.

> ®e: ab =27

B

x% = 6x+a=(x—b)>
(x=3)?=(x-b)*
x> —6x+9=(x—b)?
Ta=9, b=3




= % 8x%y —4xy & QIp7} ofd Z20

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) (@)y(Zx +1)

8x%y — 4xy = 4xy(2x — 1)




3.

x+y= V3, x—y= V2 4 o], x -y + 4x — 4y 2] gk-Z FoHH?

@V6+4vi @ V6-442 ® 26+ V2
@ 3v6-2v2 ® 4vV6-5V2

B

=y Hdx—dy = (x+y)(x-y) +4(x-y)
x—=y)(x+y+4)
2(V3+4)

= V6+4v2

—~




® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




5.

& A, B, C ofl HsiA o2& A 52 SAlEA R
2A - B+2C & oozt

@ 4+ Ax+ 1 © 9x? - Bx+4

1
® Zx2+Cx+4

Ch -
H -

>
> Hehl o

~&B

@ 4x® + Ax+1=(2x+ 1)
© 9% - Bx+4 = (3x - 2)

1 4 1 2
@Zx +Cx+4= §x+2

oJHR A=4, B=12, C=2
L2A-B+2C=8-12+4=0




6. x*-6x+83x°-Tx+2 2 FFY AFE Fotoit
B

>
> ®MEt: x—2

od =

2 —6x+8=(x—4)(x-2)
3x2—Tx+2=3x-1)(x-2)

31 P
25U QANFE=x-2




7. x—47F5 oA X2 1 ax+40, 3x2 = 10x+ b 9] 352l A4 o,
a-b o S F5HH?

® 3 @ 6 ® 0 @-3 @)-6

~&B !

x% +ax +40 = (x — 4)(x - 10)

SLa=-14
3x%> —10x+b = (x—4)(3x +2)
S.b=-8

sa-b=-14—(-8) = —6




= Fad-a*-a+19 147t opd
T \_7/—12‘-2}2 s
2 W5 F fQlA] oY

D a®+1
© a®-
1 © a+1

® a-
1 @ a*+1

®
1A @24 @34 @44 O g

B 2

a+1l=a*@a-1)-(a-1)
=(a®-1)(a-1)
(a-1)%(a+1)

Gobd o - a? —a+ 19] A5l
obd AL G 2ol

o

20 @ @clEz d47t




9. x2+Ax- 24 (x+B)(x+C) Ao, A9 gte] 2 4 ¢l
A, B, C =A%)

@ 23 @ -10 3 5 @_3

~&B

x? +Ax—24 = + (B+ C)x + BC
A=B+CBC=-24

T A48 Bl 247 HE A9
1x24, 2x12, 3x 8, 4x6 °|tt.

J9Y B4 —24 7} ©lB 2 7} Aonitt o £
T F57F ook gt
&t A =B+ C7FE & I 55 72 429

ghZolt}.
A = £23, £10, £5, £2

O

!

(

-




10.

T A X2 +ax—6 3 3x%-5x+b 9 FFAAFH (x-2) D W, a+b

of #2?

®-2 @ ® 0 @ 1

® 2

~&B

(1) ¥ +ax-6=(x-2)(x+a)
=x? + (@ = 2) x - 2a °l|A]
-2=a, 2a=-6
a=3,a=a-2=1
(ii) 3x? =bx+b = (x—2)(3x+p)
=3x2+ (B-6)x—28 oA
B-6=-5p=1
b=-28=-2
Lat+tb=1+(-2)=-1




11, the® x4y B A & A@ste] ApRashe wgolth, Mk
A4 a, b ol Bkl a—b O L2 (Fa>b)

(5x+y)(5x+y—-3)-18
—AA-3)-18
=A%2-3A-18= (5bx+y+a)(5bx+y+b)

® 4 @ 6 ® 7 @s @)

B

Sx+y=A & xgsH
(5x 4+ y)(5x +y—-3) - 18

=AA-3)-18
= A2-3A-18
= (A+3)(A-6)

=(Bx+y+3)(5bx+y-—06)
w2t a =3, b=-6 9|22 a—- b =9 oJT}.




12. o} 16 — 4x% + 4xy — y? & A-ES)5HA?

@ @d-x+y)(d-2x+y) @ (4+2x-y)(d—x-y)
® (4-2x+y)4+2x+y) @(4+2x—y)(4—2x+y)

® (A4+2x+y)(4-2x-y)

42 - (2x-y)?=(4+2x-y)(4-2x+y)




13. 16x*-81y* = (Ax>+By?)(Cx+Dy)(Ex+Fy) 22l & ©, A+ B+C+
D+ E+F 9 3& Fstoleh. (& A, B, C, D, E, F +=&5oltth)

> E.

> =g 17

16x* — 81yt = (4x? + 9y?)(2x + 3y)(2x - 3y) © /B2 A + B+
C+D+E+F=44+9+2+3+2-3=170°|¢.




14. VI8 o 4% 2BS a. 2V5 o A5 2R b 2} @

a’ — b® + a®b — ab?

of ghe kw7
a—-b

® 13 @ 15 @18 @ 20 ® 24

B

4<VI8<50|E& g = +I18-4
4<V20<50B2 p=4
a+b= V18

a(a® = b?) + b(a® - b?)

ala —I-b)(a IZJ)) +b(a+b)(a-D)

)

_(@=b)a+b)f”
B a—b

= (a +b)?

—18




0

o] Adold wf, b3+b%c+bc?—a’b+c—a*c =0

b (b +c) + b(c? - a®) + c(c? - a?)
b (b +c) + (b+c)(c? —a?)

(b+c)(b? + c? - a?)

b3 + b%c + bc? — a?b + ¢ - a’c
b, c= 730l &

o

A b2+ 2 —a? =0, + 2 =a?




